Wheels: A letter from Rose says, “I own a 1994 Chevrolet S-10 pickup truck. Our windshield wipers
work most of the time, but not always. We had the dealer check it out, but the wipers worked just fine,
so they couldn’t fix it. They did install a new switch. We then had a service center look at it. They
used a hose to pour water on the wipers. Again, they worked, but not always and they are causing a
safety problem. Do you have any ideas what is wrong?”

Halderman: The most common reason for the wipers to operate intermittently is a poor electrical
connection, either inside the wiper motor assembly or at the electrical connection or ground connection.
If these electrical connections are clean and tight, then the wiper motor assembly should be replaced.




